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[bookmark: _GoBack]MID TERM EXAM  TERM 3
MATHEMATIC FORM TWO
SECTION A
Use factor method to evaluate							(3mks)
1. 








2. Use tables to find the reciprocal of 0.07234					(4 mks)









3. Solve the simultaneous equation						(3 mks)

3x+4y= 18
2x-y= 1









4. Express the following as a single fraction in its simplest form			(3 mks)
X + y        -       2x - y
   3                    2






5. Solve for x									(4 mks)
   9x+1+32x+1=36





6. U se  logarithims to evaluate                                                                                             (4 mks)








7. The line passing through the point A(1,   -2) is parallel  the line whose equation is 3y=2x+5.Find  the equation  of the  line and hence determine the coordinates of point p where this line cuts the x-axis.										(4 mks)






8. Kambo bought a suit for sh 1200 and marked it at a price such that after allowing his customer  10% DISCOUNT,he would  make a profit  of 20%.Calculae the marked price of a suite(4 mks)










9. You are given a cos  =8/10. Without using mathematic tables express in fraction the value of.
a) Sin 										(2 mks)





b) Tan(90 -)										(2 mks)






10. Onyango is now three times as old as his daughter and four times as old as his son. Eight years from now Onyango’s age will be twelve years more than the  sum of the ages of his son and daughter.Find onyango’s present age.						(4 mks)





11. Find the area of the  triangle below							(4 mks)




	17CM	19 CM




	21CM









12. Two containers have base area of 750cm2 and 120cm2 respectively. Calculate the volume of the larger container in litres given that  the volume of the smaller container is 400cm3 .	(4 mks)





13. Evaluate									(4 mks)										
	53/5 x 13/4+ 81/3 5/9
		      51/6 x 11/5




14. Town A is 12 km to the  north of town B while town C is 21 km to the south-east of town A. Find  by scale drawing ;
a) The bearing of town B from  town C						(2 mks)




















               B) The distance between B  and  C						(1 mks)









SECTION B


          
66                                        666.66
                                  



15. The figure above show two circle with centers P and Q and of radii 8cm and 6.6cm respectively. Centers P and Q are 10cm apart and PM=MQ=2:3
Calculate to 2 decimals places
a) The size of angles RPS 							(2 mks)




b) The size of angles RQS							(2mks)



c) The area of the shaded region (Take  =3.142)				(6 mks)





16. (a) Complete the table below for the functions
i) Y=7-3x									(2 mks)
ii) Y=2x – 8									(2 mks)

	x
	-2
	-1
	0
	1
	2
	3
	4
	5

	Y
	13
	
	7
	
	
	
	
	-8





	x
	-4
	-2
	0
	2
	4
	6
	8
	10

	y
	-16
	
	-8
	
	
	4
	
	



b) On  squared paper and on the same grid draw the graph
Y=7-3x        and y=2x-8							(4 mks)



c) Use your graph to solve the simultaneous equations
3x+y=7									(2 mks)
2x-y=8

















17. An  export –import  company in kenya  owes a firm in the united states US $ 55600.The  company can pay this debt in Kenya  shillings (ksh) or a sterling pounds through their account in Britain.
The bank in Kenya changes a commission of 5% while the british bank charges 3% commission on the transaction. The currency exchange rate is;
			1 US $ =KSH 54.36
			1 sterling =US $ 1.624
			1 sterling  = KSH 88.35
Giving your answer to the nearest one thousand ksh find which method is cheaper and by how much.																					(10 mks)













18. The figure shows a trapezium PQRS in which PS is parallel to QR,SR =10cm and angle PQR=900.T is  a point on PQ  such that ST = 6cm,angle PTS=30 and angle QTR=600 







a) Find  the size of angle STR							(2 mks)



b) Calculate to one decimal places, the length of 
TR


QR


QT

PS

PT

C)  Determine the length of PQ and hence calculate the area of the trapezium PQRS
											(3 mks)









19. On graph  paper pot the points A(1,2) ,B(2,2), C(2,1) ,D(3,3) and join  them to form quadrilateral ABCD									(2mks)
b. I) On  the same grid draw quadrilateral ABCD which is the image of ABCD under an enlargement centre P(1,1) and scale factor 3
ii) State  the coordinates of vertices A’B’C’D’					(1 mks)
c. On the same axes draw quadrilateral A’B’C’D’ with  vertices A(-2,1), B(-1,2) and D”(-3,3)									(2 mks)
d. Describe fully transformation T which maps ABCD onto A”B”C”D”.
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